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LESSON2 HW — LINEARIZATION
1. Let fbe a function with £(0)=10.2 and f'(x) = ZSin(g— x] .

Use a linearization of fat x = 0and use it to approximate f(—0.3)
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2. Let f(x)=+x*+9 . Use alinearization of fat x = —4 and use it to approximate 7(-3.9).
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3. Let f(x)=In{x+1). Use a linearization of fat x = 0and use it to approximate f(0.2).
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4. Let fbe a function with f(0)=2 and f/(x)=e" cos(x).
Use a linearization of fat x = Oand use it to approximate f(0.5)
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LESSON2 HW — RELATED RATES REVIEW

5. A man inside a hot-air balloon basket, directly above a level, straight path, is filming a bicyclist
traveling along the path. The balloon is rising vertically at a constant rate of 1 m/sec. The cyclist is
moving away from the point directly below the balloon at a constant rate of 5 m/sec. ~ Consider the point
in time when the camera is 24 m above the ground and the bicycle is 7 m from the point directly below
the balloon? ~ belln

A. How fast is the distance between the bicycle and the man*s-eamera changing?

B. How fast is the angle of the
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